
PATENT PRODUCT 
Grille Installation Instruction 

 

Part# GR14HGI91C Application For 2002-2004 Nissan Altima 
 

Page 1 of 1 

 

The instruction here is for your reference only. You may need to bend the billet grille bars or tabs a little bit 

to adjust to fit. We strongly recommend the professional installer for best result.  

Please use masking tape and tape the OEM grille shell along the edge to protect your vehicle during 

installation. 

We are not responsible for any damage caused by the installation. Thank you for choosing our product! 

 

Rev. 200801 

 

 

Parts 
List 

Item Part Name QTY Description Item Part Name QTY Description 

1 Billet Grille insert    2 Grille Installation Instruction  Part# F86828C-J Application 11-12Ford F250/Super Duty XLT/ lariat/King Ranch Main Upper  

    

Rev. 141001 

The instruction here is for your reference only. You may need to bend the grille a little bit to adjust to fit. We strongly recommend the professional installer for best result. We are not responsible for any damage caused by the installation. Thank you for choosing our product! 

Parts List Item Part Name QTY Description Item Part Name QTY Description 1 Billet Grille 1 Stainless steel 4 Flats 7 #8 2 Screws 7 #8×3/4″      Install Notes:  Overlay                Replacement                 Drill                     Cut                            Step Description illustration 1 Identify the grille & hardware with parts list.  2 Remove the factory grille from the vehicle. There are 4  bolts along the top of the grille under the hood  that need to be removed The top of the grille will be loose, pull the bottom out untill the latches pop loose and remove the grille  3 With the grille removed from the vehicle remove the 5 plastic pop clips and one 10/32″bolt from the top plate of the factory grille, remover the top plate(Fig 1) 4 Now remove 7 plastic pop rivets from along the top edge of the factory grille assembly.Use a pointy object or a small punch to press in the center of the top(Fig 2). 5 The pop rivet will break and will not be reused.Remove the pop rivet with a pair of pllers (Fig3)  6  Now you will remove the 2 chrome trim bars from the front lf the factory grille.From the backside of the grille, unlatch the 7 plastic latches holding the chrome trim bars securewith a flat screwdriver (fig 4) 7 Pull the chrome trim bars off the grille. Now you will separate the front and back section of the factory grille.On the backside of the factory grille there are 6 plastic latches along the top, 6 along the bottom and 2 on each side,unlatch these with a flat screwdriver and separate the front and back sections of the factory grille(Fig 5) 8 Remove the ford logo,there are 4 plastic latches and 1 nut holding it to the grille(Fig 6)  9  If you want to remount the ford logo on the new grille, cut the black plastic tabs off from the backside of the logo and sand it smooth. Now you need to remove the 2side sections from the black section of the factory grille(Fig 7). There are 9 plastic latches on the backside of each section, use a flat screwdriver to unlatch them and remove the side sections. Now reassemble to black plastic bac section and the front grille section minus the side pieces and apply masking tape to the painted/chrome grille shell outter ring to prevent any scratches during cutting(Fig 8). 

×  √  √    ×   Stainless steel 6 Lock Washers     2 1/4″ 

2 Mounting Clips    2  7 Stud    2 6-32×2″ 

3 Hex Bolts    2 1/4″-20×3/4″ 8 Kep Nuts    2 6-32 

4 Nut    2 1/4″-20 9 U-Clip Nut    8 8# 

5 Screws    8 8#X3" 10 Flat tab    4 With 2 holes 

 
Install Notes:  Overlay                Replacement                 Drill                     Cut                            

Step Description illustration 

1 Identify the grille & hardware with parts list. 

 

 

2 
Pop hood, remove the black plastic cover (on top of OEM grille / front panel) from vehicle. This will allow access 
to the rear of the grille shell.  

3 Start with the upper section. Attach the two #6-32UNC×2″studs to the bottom brackets 

4 

Now place the billet insert bottom first in to the opening with the studs going through the factory holes and then 
securing to the lip directly behind the factory mounts using the brackets provided ( be sure that the billet grille is 
centered and fits to your liking before tightening ). Now using the factory mount and hardware, secure the top 
portion. 

5 
Move on to the lower section.  Place screws through the welded aluminum tabs on the grille. Hold the billet 
grille up to the opening of the factory shell.  Secure the grille with flat tab and U-Clip Nut from the back of OEM 
grille shell. 

6 Make sure the billet grille is centered and tighten the fasteners. But do not over-tighten. 

7 Reinstall the black plastic cover which was removed in step 2. 

8 Installation completed!!! 

× 

 

√ 

 
× 

 

× 

 


